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1. The introduction of refrigerators into home market:
A) decreased the short run own price elasticity of demand for raw meat.
B) did not affect the short run own price elasticity of demand for raw meat.
C) increased the short run own price elasticity of demand for raw meat.
D) decreased the short run own price elasticity of demand for smoked meats.

2. Holiday Burgers has discovered there are economies of scope available to the restaurant. Which is
most likely to be a response to this discovery?
A) Holiday adds more varied inputs to burger production.
B) Holiday expands burger production, focusing on that one good.
C) Holiday contracts burger production.
D) Holiday adds grilled chicken sandwiches to the menu.

3. Season ticket holders for the baseball team 7-11 Lions received a surprise when they received their
applications to renew their season tickets. In order to get your season ticket to the 7-11 Lions’
home games, you had to buy tickets to the preseason games. Many season ticket holders grumbled
about this practice as an underhanded way for the 7-11 Lions to get more money from its season
ticket holders. This practice is an example of:

- A) peak-load pricing.
B) intertemporal price discrimination.
C) two-part tariff.
D)bundling.

4. Generally speaking, demand for a good will be more inelastic
A) if few substitutes exist. : :
B) when the good represents a large share of the consumer's budget.
C) in the long run. S '
D) when many substitutes exist.

5. The cost-output elasticity equals 1.6; this implies that:

A) theré are neither economies nor diseconomies of scale.
B) there are economies of scale.

C) there are diseconomies of scale.

D) marginal cost is less than average cost.

6. If it'is impossible or highly costly to prevent consumers from consuming a good when they have
not paid for it, the good is a(n) good.
A) nonexcludable
B) pure public
C) private
D) nonrival _
7. Which of the following statements is true regarding the differences between economic and
~accounting costs?
 A) Accounting costs include all implicit and explicit costs.
B) Economic costs include implied costs only.
C) Accountants consider only implicit costs when calculating costs.
D) Accounting costs include only explicit costs.
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8.  When the production process extends over more than one year, the value of the final product is:
A) included in GDP for the year in which production began.
B) included in GDP for the year in which production was completed.
C) allocated to GDP in each year according to the value added in that year.
D) allocated equally to GDP in each year.

9. Real GDP per person in country R is $2,000, while real GDP per person in country P is $1,000.
However, country R's real GDP per person is growing at 1% per year and country P's is growing at
2% per year. After 50 years, real GDP per person in country R minus real GDP in country P is
A) greater than $10,000
B) positive, but less than $10,000
C) zero
D) negative

10. Other things being equal, if terrorist attacks increase the desire for precautionary saving, then the
real interest rate will and the equilibrium quantity of saving and investment will

A) increase; increase
B) decrease; decrease
C) increase; decrease
D) decrease; increase

11. Other things being equal, a decrease in the rate of inflation __ planned spending and ___
short-run equilibrium output. ' :
A) increases; increases
‘B) increases; decreases
C) decreases; decreases
D) decreases; increases

12. If the market equilibrium value of the nominal exchange rate equals 0.11 U.S. dollars per yen, but

the yen is officially fixed at 0.12 U.S. dollars per yen, then the yen exchange rate is and to
maintain this exchange rate there will be in the government's stock of international
reserves.

A) undervalued; a net decline
B) undervalued; a net increase
C) overvalued; a net increase
D) overvalued; a net decline

13. If a Japan firm produces cars in the United States, that production should count towards
A) both U.S. GNP and Japan GDP. ' '
B) U.S. GDP.
C) Japan GDP.
D) U.S. GNP

14. An increase in public savings has what impact on the market for loanable funds?
A) The supply of loanable funds increases.
B) The demand for loanable funds decreases.
C) The supply of loanable funds decreases.
D) The demand for loanable funds increases.

15. Expansionary fiscal policy the price level and equilibrium real GDP.
A) decreases; increases
B) increases; increases
C) increases; decreases
D) decreases; decreases
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3. Explain why increasing the government budget deficit can decrease investment spending. (10 4)

4. Ina paftic'ular U.S. market, quantity demanded is given by Q% =500-20P and quantity supplied

is given by Q° =50+30P. The world price for this product is $6, and an unlimited amount can be
purchased at this price. (15 4~ * &/\2 5 %)

a) With imports prohibited by the U.S., what is the domestic equilibrium price and quantity?

b) Now suppose the government opens up the U.S. economy to free trade. How will this affect the
equilibrium market price, the quantity supplied by domestic suppliers, the quantity purchased by
domestic consumers, and the level of imports?

c) Finally, suppose the government sets a tariff of $2 per unit. How will this affect the equilibrium
market price, the quantity supplied by domestic suppliers, the quantity purchased by domestic
consumers, and the level of imports? ‘




